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; 100kN/mM#Z#B% % — -~ - —|3mZEEZB| — ~ — — — | 100kN/mM%# %3 — - ~ — —|3mZE#BZ % - ~ — — —
znLst 1.00 | 0.00 ~ 7.30 92.95 | #hs 000 ~ 000|173 8.72 ZznLst 1.00 | 6.00 ~ 9.39 92.95 | =N | 5.00 ~ 9.539|1.73 8.72
P 100kN/mM#Z#B2% | 1.00 | 000 ~ 263| 14131 |3mEBZB| — ~ — — — | 100kN/m%#Z5 | 1.00 | 1096 ~ 2837 141.31 |3m%E#BZ3 — ~ - - -
znLs 1.00 | 263 ~ 1041 100.00 | =N | 0.00 ~ 1041| 2.86 14.48 ZznLst 1.00 | 5.00 ~ 10.96 100.00 | #nLSY | 5,00 ~ 2837 2.86 14.48
3 100kN/m#%i#B2%| 1.00 | 000 ~ 253 139.76 |3mEBZB| — ~ — — — | 100kN/m%ZE#BZ5 | 1.00 | 11.28 ~ 31.32| 139.76 |3mZE#BZ5 - ~ — — —
Zhn s 1.00 | 263 ~ 1082 100.00| FnS | 000 ~ 1052|291 14.73 ZznLst 1.00 | 6.00 ~ 11.28| 100.00| TnLS | 6,00 ~ 3132|291 14.73
4 100kN/m#%i#BZ2%| 1.00 | 000 ~ 203| 13143 |3mZEBZB| — ~ — — — | 100kN/mi%E#BZ5 | 1.00 | 1222 ~ 3134 131.43 |3m%E#BZ3 - ~ — — —
Zh s 1.001 203 ~ 982 100.00 | ThUs | 000 ~ 982|282 14.25 ZhnLs 1.00 | 5.00 ~ 1222 100.00 | ThLS | 500 ~ 31.34| 2.82 14.25
5 100kN/m#Z#8Z25| 1.00| 000 ~ 254 139.80 |3mZE#BZBH| — ~ — — — | 100kN/m%#Z5 | 1.00 | 11.14 ~ 2915 139.80 |3m%E#EZ3 - ~ — — —
Zhn s 1.00 | 2564 ~ 1052 100.00 | TnRS | 000 ~ 10352] 2.83 14.52 ZznLst 100|500 ~ 1114 100.00 | #nLS | 6,00 ~ 2915| 2.83 14.32
g 100kN/m#i#8%25%| 1.00| 000 ~ 318 150.76 |3mZERBZB| 0.00 ~ 0.08| 3.04 15.39 | 100kN/m%E#B25 | 1.00 | 1058 ~ 29.15| 150.76 |3mZERBZB| 25.00 ~ 29.15| 3.04 156.39
Zhn s 1.00 | 3518 ~ 109| 100.00 | TnS | 008 ~ 1096| 3.00 15.16 ZznLst 1.00 | 6.00 ~ 1053 100.00| Fns | 6,00 ~ 2500\ 3.00 15.16
; 100kN/m%#E=2% | 1.00 | 000 ~ 3523 151.74 |3mEBZB| 0.00 ~ 0.54| 5.33 16.85 | 100kN/mM#%#EZ5% | 1.00 | 11.27 ~ 29.21 151.74 |3mZEBZB| 25,00 ~ 2921|333 16.85
ZhLs 1.00 | 323 ~ 11.02| 100.00 | ThLS | 064 ~ 1102| 3.00 15.16 Zh st 1.00 ] 5.00 ~ 1127 100.00| Thst | 500 ~ 2500 38.00 15.16
g 100kN/m#%i#BZ2%| 1.00 | 000 ~ 265| 14174 |3mZEBZZ| — ~ — — — | 100kN/m%E 2% | 1.00 | 1061 ~ 2215| 141.74 |3mEEZ5 - ~ — — —
Zh st 1.00 | 265 ~ 1044 100.00 | Ths | 000 ~ 1044|279 14.10 ThLs 1.00 ] 500 ~ 1061 100.00| Tnst |500 ~ 2215|279 14.10
9 100kN/m#%#BZ % — -~ = —|3mZz#BZB| — ~ — — — | 100kN/mM%# %% — -~ — —|3m%EiEZ S - ~ — — —
zhLs 1.00 | 0.00 ~ 760 97.27 | ThLs | 000 ~ 760|213 10.78 zhLst 1.00 | 500 ~ 1011 97.27 | =S | 5,00 ~ 1011213 10.78
10 100kN/m#%#BZ % — -~ = —|3mZz#BZB| — ~ — — — | 100kN/mM%# %% — -~ — —|3m%EiEZ 5 - ~ — — —
Zh st 1.00 | 0.00 ~ 583 72.95 | #hS | 000 ~ o0.00| 1.69 8.52 ThLs 1.00 ] 5.00 ~ 6.60 72.95 | =S | .00 ~ 6.60 | 1.69 8562
17 100kN/m#%#BZ % — -~ = —|3mZz#BZB| — ~ — — — | 100kN/mM%# %% — -~ — —|3m%EiEZ5 - ~ — — —
ZNLs 1.00 | 0.00 ~ 308 39.54 | ThLS | 000 ~ 308|251 11.66 LS 1.00 | 5.00 ~ 5.00 39.54 | TS | 500 ~ 500|231 11.66
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
NS ~ ThLLst ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#B 2.5 ~ ImEBZD ~
ZnLs ~ ThLLst ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#B 2.5 ~ ImEBZD ~
ZNLs ~ ThLLst ~ LS ~ Zhn Lot ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ TS ~ Zh s ~




